

## Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$17,000,911.42	\$13,845,821.62
Contributions	\$22,450.75	\$2,834,516.82
Withdrawals	(\$90,000.00)	(\$450,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$12,747.40	\$45,263.70
Administrative Expense	(\$232.43)	(\$1,331.86)
Investment Expense	(\$371.80)	(\$3,611.49)
Investment Manager Fees	(\$19.31)	(\$613.94)
IFA Loan Repayment	\$0.00	(\$12,513.62)
Adjustment	(\$575.70)	(\$575.70)
Realized Gain/Loss	\$33.72	\$6,242.23
Unrealized Gain/Loss	(\$238,621.96)	\$443,124.33
Ending Balance	\$16,706,322.09	\$16,706,322.09

## Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	10.63%	10/03/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



#### Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$401.76	\$23,229.90
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$394.94)	(\$24,193.62)
Income	\$1.61	\$29.41
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$8.02)	\$748.75
Unrealized Gain/Loss	(\$0.41)	\$185.56
Ending Balance	\$0.00	\$0.00

## Unit Value Summary:

	Current Period	Year to Date
Beginning Units	44.277	2,660.574
Unit Purchases from Additions	0.000	56.421
Unit Sales from Withdrawals	(44.277)	(2,716.995)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

# Performance Summary:

#### HARVARD POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	10/14/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



#### Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$17,000,509.66	\$13,822,591.72
Contributions	\$22,450.75	\$2,835,002.00
Withdrawals	(\$90,000.00)	(\$450,000.00)
Transfers In/Out	\$394.94	\$23,727.18
Income	\$12,745.79	\$45,215.55
Administrative Expense	(\$232.43)	(\$1,331.86)
Investment Expense	(\$371.80)	(\$3,611.49)
Investment Manager Fees	(\$19.31)	(\$613.94)
IFA Loan Repayment	\$0.00	(\$12,513.62)
Adjustment	(\$575.70)	(\$575.70)
Realized Gain/Loss	\$41.74	\$5,493.48
Unrealized Gain/Loss	(\$238,621.55)	\$442,938.77
Ending Balance	\$16,706,322.09	\$16,706,322.09

#### Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,705,153.254	1,457,484.921
Unit Purchases from Additions	2,305.520	286,545.871
Unit Sales from Withdrawals	(9,123.415)	(45,695.433)
Ending Units	1,698,335.359	1,698,335.359
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

# Performance Summary:

#### HARVARD POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

# Statement of Transaction Detail for the Month Ending 05/31/2023

#### HARVARD POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(394.94)	8.919671	(44.2774)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(575.70)	9.970074	(57.7428)
05/03/2023	05/04/2023	Contribution	22,450.75	9.910694	2,265.3055
05/12/2023	05/15/2023	Redemptions	(90,000.00)	9.927560	(9,065.6717)
05/25/2023	05/26/2023	Transfers In	394.94	9.820810	40.2146